i {‘ ﬁ iT @ fiinf Briiche, Reihenfolge der Operationen mit
Klammern

Name: Datum: Ergebnis:
2 12 11 1 3 22 11 2
(5 2) 5(3 4) (4 3) 3(2 3)
1 1 5 11 3 1 5 1 1 1 >
Gt 75377 (r*+3)" -G 73
3 3 > 3 1 1 > 3 2 1 > 3
Z (= (=4 =2y = — )Y + = ~ =
1 1 5 11 3 3 1 5 3 1 3 >
1o 2, 1 20 1 o
+ =) +Zx27°x = = — )y - -5+ =
B+ +5 %2 x 2 (5-37 53
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i {‘ ﬁ iT @ fiinf Briiche, Reihenfolge der Operationen mit
Klammern

Name: Datum: Ergebnis:
2 1, 11 1. 6 3 2, 1.1 2 7
—+ =)t (== =)= — —— )Y+t —(=— )= (—
G+ 3379773 G 3) 3(2 3) i)
1 1, 1.1 3. 29 1, 1.1 1 1, 43
G 5GP ((3) 3)X6 G737 =)
33, 3 1 1, 4997 497 , 1 5, 3 29 1
CHEP) Xt (= + =)= =1 5— Y +-x32xZ =22 =14-
GV 5G9 1300 ~ 13500 G=37*3 4 2 2
1 1, 1.1 3 1 3 1, 3 1 3, 7
= =)+ —(=— )= (—— —H (= )X = —(=— =) = —
G736 9705 o (3)) 1 G T
1 767 47 2 3 215 35
3+ Y+ x2x-=—=12— 5— Y — - -5+ =(-2)=(5=
B 3223 =% ~ 2% 5=37 73 1~ 0367 3%)
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